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MORE ABOUT QUESTIONS

Language Curriculum III

Instructions to students:

Answers to the questions are to be recorded on the separate
answer sheets provided. PLEASE BE SURE TO USE ONLY SIDE
A OF THE ANSWER SHEET, THE SIDE THAT HAS ROOM FOR 5
CHOICES,

Use a soft lead pencil (#2 or softer) and completely fill the
space between the lines for the response you choose as the correct
answer, Your score on this test will be the number of correct
answers you mark, There is only one best answer for each item,

Sample test item: Who is the chief executive of the
United States Government ?
(1) The President

* (2) The Secretary of State

(3) The Secretary of Defense

(4) The Chief Justice of the Supreme

Court
Since the correct answer is 1, the answer sheet i8 marked
like this-
Sample test item: 1 2 3 4 5
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1. A generative grammar can best be described as a set of rules which

1) must be followed consecutively in order to produce a sentence
of the language,

2) allows ungrammatical declaratives to be transformed into
questions,

3) produces a dependent relationship between the various parts of
the sentence,

4) accounts for all the grammatical sentences of the language.

2. The rules of a generative grammar show that questions are fo med
by
1) simple inversion of the verb phrase,
2) adding Q to Phrase Structure rule #2,
3) transforming ungrammatical declaratives.
4) transformations of basic symbol gtrings,

3. The Question element is located in Phrase Structure rule #1 because |

1) all grammatical base declaratives can become questions,
2) it affects the whole sentence and should be in the string from the |
beginning,

3) ungrammatical base declaratives can never become questions.
4) the underlying symbol string for a question is the same as that
for a declarative.

In items 4-10 select the sentence which corresponds to the given
symbol string.

EXAMPLE: NP + past + Vtr NP2

1) Sue passed the test, ;
2) I am going to town,

3) The empress looked beautiful,
4) The coat cost thirty dollars,

The correct answer is # 1,

4, Q+ pres + do + NPl + Vink +Adj.
1) How does the weather look?
2) Will the paper be typed?
3) Does the weather look good?
4) Do you believe me now ?

5. Q+ pres + be + NP + ing + Vtr + NP2 + Tm

1) Is the girl going to the play?

2)  Are you arranging the flowers tomorrow?
i 3) Aren't you staying up too late?
4) Was Fred being funny last night?

6. Q+ past + do + NP + Vir + NP2 + Man
1) Did mother buy me a gift at the store?
2)  Did he dial the number correctly?
3) Did Theodore have a cold yesterday?
4) Nid the children sing too loudly?
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10,

12,

13.

14,

i,

Q +pres + M+ NP + Vin + Tm

1) Can the team practice at 4 o’clock?

2)  Where was she at 5 o'clock yesterday?
3) Can I give the history report today?

4) Will the boys always be late?

Q + pres + have + NP + en + Vmid + NP2 + Tm
1) Have the boys gone to the river already?
2)  Has Sally been elected secretary this term?
3) Have the children had their shots this year ?
4) Had your parents visited the school before?

Q + past +M + NP + be + ing + Vi + Loc

1) Couldn't he be saving more money ?

2) Shall [ go with you to the store?

3) Could she be studying English in the basement ?
4) Should he be swimming in the river?

Q +past+ M+ NP + have + en + Be + Loc + Tm

1) Shall I fix your lunch on the patio this afternoon?
2) Could she have been at the dance last night ?

3) Caa you pull the fish into the boat now ?

4) Would you be at my office tomorrow morning?

If neither M, have, or be occur in a sentence string which goes through
TQ, then Tns

1) attaches itself to the inverted NP,

2)  moves behind the NP in the transformation,

3)  attaches to do which must be added.

4) drops out of the sentence.

From the following questions, select the one which has no corresponding
declarative,

1) Does he ever come to school early?

2) Do they want to buy some candy ?

3) Has he mowed the lawn todey?

4)  Did they call your father last night?

Interrogatives which question a single element in the sentence will
1) be answered by yes or no,

2) require the do transformation,

3) have one of the wh~words in place of the question element.

4) be ungrammatical in the declarative form,

When NPZ, Tm, Loc, Man, y_g_l occur in an underlying string which
has been through T, they can

1) be answered only by yes or no.

2)  each have wh attached to them,

3)  have do attached to the MAIN verb.

4) never become question words,
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15. The wh-attachment transformation explains how
1) a question word gets into the sentence.
2) a yes or nn question can be transformed,
3) a wh attaches itself to the original Q,
4) a declarative can be transformed into an interrogative,

16. A symbol strir.g containing a Q and a wh~attachment must
1) undergo one complex transformation,
2)  add do to the front of the sentence,
3) undergo three separate transformations,
4) be restricted to the yes-no question transformation,

In exercises 17-22 select the symbol string which corresponds to the
given sentence,

EXAMPLE:
What have you ceoked today?

1) Q+NP1+hzave+en+Vtr+wh NP2 + Tm
2) Q + wh-NP¥“ + pres + have + NP + en + Vtr + Tm
3) Q+pres+h%ve+NP1+en+Vtr+wh+NP2+Tm
4) Q + wh + NP + past + have + en + Vtr + Tm

The correct answer is #2,

17, When will we go to the play?
1)  Q+pres+ M+ NP+ V;, +wh+ Tm + Dir
2) Q+pasi+wh+ Tm+ M+ NPl + Vir + Dix
3) Q+pres+wh+Tm+M+NPl+V, +Dir
49 Q+wh+ Tm +pres + M+ NPl + Vi, + Dir

18, Who has been slaniming the door?
1) Q + wh + NP + pres + have + en + be + ing + Vtr + NP2
2) Q-+ wh+ NP + past + have + en + Vir + NP2
3) Q+wh+NP2+pre§+have+en+be+ing+Vtr+NP1
4) Q + pres + wh + NP +have+en+be+in;t.*;f!-Vtr+NP1

19, Where have you been all morning? 1
1) Q-+ wh+ NP2 + pres + have + NP ten + Be + Tm
2) Q + wh +Loc+ pres + have + en +1NP + Be + Tm
3) Q + wh + Loc + preg + have + NP + en + Be + Tm
4) Q +pres + wh+ NP! + have + en + NPl + Be + Tm

2Q, What did the boys pring to school?
) Q+wh+ NP, +past + do+ NP2 + Vty;,. + Dir
2) Q-+ wh+ NP2 + past + do + NP1 + Vtgy,. + Dir
3) Q+ wh+ NP2 + past.+ do + NP1 + V;, + Loc
4) Q+past+wh + NP" + do + NP2 + Vj, + Loc

21, How did you llose your money?
1) Q+ NP+ past+ do + Vtr + wh + Man + NP2
2) Q+wh+Man+pas1t+do+Npl+vmid+N 2
3) Q + past + do + NP* + Vtr + wh_+ Man + NP
4) Q+ wh+ Man + past + do + NP! + Vtr + NP2




.

22.. When can you visit Uncle Jay?
1) Q+pres+wh+Tm+M+NP!+ Vir + NP2
2) Q+Wwh + Tm + pres + M + NP+ Vtr + NP2
3) Q+wh+NP +pres+M+NP22+Vtr_+NP3
4) Q+wh+ Tm +pres + M+ NP2 + Vtr + NP.

23. What is the basic similarity of all questions ?
1) They have all undergone the wh~attachment transformation. i
2)  They are: built on the yes-and=no question transformation, 1
3)  They have moved Tns and added do to the front of the sentence,
4) They have undergone two sepa. ate transformations.

24, What does the "Q" in the sentence string mean?
1) The string must go through the yes~or=no transformation,
2) The string must undergo the wh-attachment transformation,
3) A question word will appear in the place of a particular sentence
element,

‘ 4) The NP and VP clauses of the sentence are to be inverted,

25, When [ 77 are used in a rule like TQ they mean that
1) the item on the left does not necessarily correspond with any
item on the right,
2) the item on the left may choose to line up with any of the items on
the right,
3) the items within one set of brackets line up with the corresponding
items in the other set,

4)  the item on the left optionally changes places with the
corresponding items on the right,

* In items 26-30 select the sentence which corresponds to the given
symbol string,

EXAMPLE:
| Q + wh~NP! + past + break + NP2 + last night.

1) What did the boy break last night ?

2) Did the boy break the window last night ?
3) When did the boy break the window ?

4)  Who broke the window last night ?

The correct answer is #4,

26, Q + wh=NP2 + pres + have + NP + invite.
1) Has the man invited whom ?
2) What has the man invited?
3) Whem has the man invited ?
4) How bhas the man invited?

27. Q + wh~Loc + pres + have + all + NP! + en + go,
1) How have all the flowers gone?
2) Where have all the flowers gone ?
3)  Have the flowers gocne where ?
4)  All the flowers have gone where ?
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1
28, Q + past + M + NP+Vtr + his dinner,

1)
2)
3)
4)

When should the boy finish his dinner?
Where should the boy finish his dinner ?
Should the dinner he finshed by the boy?
Should the boy finish his dinner?

29, Q + wh-Man + many + NPl + past + do + their assignments + Tm,

1)
2)
3)
4)

What students did their assignments last night ?

How many students did their assignments last night ?
Did many students do their assignments last night ?
How many assignments did the students do last night ?

30, Q + wh-Tm + pres + be + your mother + ing + come + Dir

1)
2)
3)
4)

When is your mother coming to Eugene?
Your mother is coming to Eugene when?
How is your mother coming to Eugene ?
Who is your mother coming to Eugene with?

In exercises 31-40 select the symbol string which corresponds to the
given sentence, (Notice that the sentence and strings have been transformed.)

EXAMPLE:

1)
2)
3)
4)

How is the librarian?

Q + wh~=Man + pres + betArtindef + Nhum + sing,
Q + wh=Loc + pres + be + Artg4or + Nan + sing,

Q+ wh-vMaE + pres + be + Artdef + Nhum + sing,
Q + wh=NP” + pres + be + Artges + Nhum + sing,

The correct answer is #3,

3L Does tne man drive a car carefully?

1
2)
3)
4)

Q + pres + do + Art jo¢ + Nhum + sing + Vtr + Antipder + Nin +
sing + Man

Q + wh + Man + pres + do + Artgy.s + Nhum + sing + Vir + Artges
+ Nin + sing + Man

Q + pres + do + Artjpqes + Nhum + sing + Vir + Artyos + Nin +
sing + Man

Q + wh + do + Artyer+ Nhum + sing + Vi, + Arty, q.¢ + Nin + sing
+ Man

32, When did the clasg elect a president?

1)
2)
3)
4)

Q + wh + NP* + past + do + Artjnger + Nmass + sing + Vir +
Artgee + Nhum + sing

Q + wh + Tm + past + do + Artger + Nmass + sing + Vtr + Artindes
+ Nhum + sing

Q + wh + Tm + past + do + Artger + Nmass + sing + Vmid +
Artindes * Nhum + sing '

Q + wh + Tm + past + did + Artyoe + Nmass + sing + Vmid +
Artinder + Nhum + sing
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33. How did the boy become a champion?
1) Q + wh + Man + past + do + Artger + Nhum + sing + VInk + -
Artindeft Nhum + sing
2) Q +wh+ NP! + past + do + Artindef + Nhum + sing + Vlnk +
. Artder + Nhum + sing
3) Q-+ wh+ Man + past + do + Artjzdes + Nhum + sing + Vinid +
Artges + Nin + sing
4) Q+ wh+ Man + past + do + Artger + Nhum + sing + Vimidl +
Artindef + Nhum + sing
34, Who stole the co%kies ?
1) Q + wh-NP* + past + Vtr + Art4,¢ + Nin + plur
2) Q + wh~NP1 + Fo3t + Vir + Art, ¢ + Nin + plural.
3) Q+wh-NP1+pres+V1nk;tA def TN * plur
4) Q+ wh-NP! + past + Vtr + Artindeef + Nan + plur
35. What did she sing last night ?
1) Q-+ wh+ NP2 + past + do + § + Nhum + sing + Vtr . + Tm
2) Q-+ wh+NP.!+past + do + Art, . . +Nhum + sing + Vir + Tm
3) @ + wh + NP +past+do+‘¢-}"lqﬁum+sing+v-n+Tm
4) Q + wh + NP + past + do + ¢+Nhum+sing-j-vlin+Tm
36. Who is the woman in room #4°?
1) Q + wh-Man + pres + be + Artjnges + Nhum + Loc
2) Q+ wh-’l"nﬁ-i- pres + betArt ; .+ Nhum + Loc
3) Q + wh=NP* + pres + be + A(;%def + Nhum + sing + Loc
4) Q+ wu~Man + pres + Artyer + Nhum + sing + Loc

31. V;Ihere can the girl find a typewriter tonight ? A
1 + wh + Loc + pres + M + Art + Nhum + Vir + Art +
ant+ ging + Tm indef def

2) Q + wh + pres +M+ Artdef + Nhum + Sing + Vin + Artindef +
Nin + sing + Tm

3) Q+ wh+ Man + pres + Artges + Nhum + sing + Vi + Artjnger +
Nin + sing + Tm

4) Q + wh + Loc + pres + M + Art 4.¢ + Nhum + sing + Vir + Arty, 4o

+ Nin + ging + Tm '

38. When is the concert?
1) Q + wh-Loc + pres + be + Artger + Nin + sing
2) Q + wh=Tm + pres + be + Art, . + Nin
3) Q-+ wh+Tm+ pres + Artges ©Nin + sing + Vyp
4) Q + wh~Tm + pres + be +Art, . + Nin + sing

39. Whom shall the segretary call?

1) Q+wh+ NP2 + pres + M + Artyor + Nhum + sing + V;,

2) Q + wh + NPy’ + pres + M + Art4es + Nhum + sing + Vir
: 3) Q+wh+NF + pres + M+ Artjnges + Nhum + sing + Vi
’ 4) Q + wh+ NP" + pres + M + Artges + Nhum + sing + Vir

40, Who will erase the blackboard today?
1} Q+ wh-NP2+ pres + M + Vtr + Art,_. + Nin + sing + Loc
2) Q+ wh-Lo:i + pres + Vir + Artj.r + Niu+ sing + Tm
3)  Q+wh-NPl+ pres + M+ Vir + Artges + Nin + sing + Tm
4) Q+ wh-NP"+ pres + M + Artge¢ + Nin + g8ing + Tm
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ORLEGON CURRICULUM STULY CENTER

-

THE NEGATIVE
TELT

Larguage Curricuium III

Instructions to studen’::

Answers to the questions are to be recordzd on the separate
answer sheets provided, PLEASE RE SURE TO USE ONLY SIDE
A OF THE ANSWER SHEET, THE SIDE THAT HAS ROCM FOR 5

‘CHCICES.

Use a soft lead pencil (#2 or softer) and completely fill the
space beiween the lines for the response you choose as the correct
answer, Your score on this test will be the nuint.er cf correct
answers you mark, There is only one best answer for each item,

Saniple test item: Who is the chief executive of the
Uniied Stutes Government?
(1} 7be President
(2) The Secretary of State
(3) Tie Secrectary of Defense
(4) Tie Chief Justice of the Supreme

Court
Since the correct answer is 1, the answer sheet is marked
like this:
Sample test item: i 2 3

LRI

The Pro;ject reported herein was supperted through
the Cooperative Research Program of the Office of

Education, U, S. Department of Health, Education
and Welfare, ’




The simplest way to razke a sentence negative is to
1) transicrm it into a yes~or-no question,

2) ad< seme forra of not.

3) add Neg bafore the VP,

4) shiit the Neg after M, be, or have,

One definite characteristic of Neg is that

1) not does not occupy a fixed position,

2) not may appear in a sentence without an auxiliary,

3)  not comes after the M, be, or have, if they ovccur in the sentence,
4) not appears in a sentence before the auxiliary verb.

In items 3-10 four different string of symbols are listed below each

sentence, Chuose the string which underlies the given sentence,

EXAMPLE:

The

John has fxot compieted the assignraent.

1) NP* + preg + Neg + Vir + NP 9

2) Neg + NP" + pres + have + en + Vtr + NP

3) NP* + pres + have + Neg + Vtr ~ NP2

4) Neg + NP + es + has + en + Vtr + NP2

5) Q + Neg + NP! + pres + have + en + Vtr + NP2

correct answer is #2.

I shall nof accept this theme,

) NP +pref;+M+Neg+Vtr+NP2

2)  Neg + NP! + past + M + Neg + Vtr, + NP2
3) Neg + NPl + pres + M + Vtr + NP

4) NP!+ pres + Neg + M + Vtr + NP2

He was not going today.

1) NP! + past + Neg + be + ing + Vin + Tm
2) NP! +past + be + ing + Neg + Vip + Tm
3) NP} past + Be + Neg + Vip + Tm

4)  NP!+ past +be + Neg+ing+V, +Tm
50  Neg + NPl + past + be + ing + Vip + Tm

He did not bounge the ball in the hquse,

1) Neg + NP!+ past + Vtr + NP2 + Loc

2) NP; + past + did + Neg + Vtr + NE® + Loc
3) NP! + past + do + Neg + Vir + NP2 + Loc
4) Neg+ NPl + past + do + Vtr + NP2 + Loc

Can't the girl bake a pie? 1

1 Neg+ Q + pres + M + NP1+ Vtr + NP2
2) Q+ Neg + pres + M + NP" + Vtr + NP2
3) Q+Neq+NP -i-pr»es-i-M-l-Vtr-i-NP2
4) Q+ NP'+ pres + M + Neg + Vtr + NP2
5) Q+ pres + M + Neg + NP! + Vtr + NP2
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7. Didn't Joe give Mary the c:.ndy"l
1)  Q + past+ do + Neg + NP! + Vi, + 10 + NP2
2) Q-+ Neg+do+ NP +Vt *.+Prt+NP2
3) Neg+Q+past+do+N8 + Vir + NF* 9
4) Q +past+ Ne +do+NP+Vto+10+m“
5) Q + Neg + NP + past + Vijo + prep + NP3 + NP2

Carol d1 not mail her application to Penn State,

) lt+do+Neg+Vtr+NP2+Loc
2) + NP* + past + Vtgijr + { + NP2
3) NP + past + Neg + Vir + NP“ + Loc
4) 1, past + Neg + Vir + NP2 + Loc

5) Neg + NP! + past + do + Vtgjp + Dir + NP2

9. Jane has not had a cold this year,
1) NPl + past + Neg + have + en + Vtr + NP2 + Tm
2) NP1+pres+have+en++Neg+V ijd + NP2+ Tm
3) Neg+ NP% + pres + have + en + NP4 + Prt
4) Neg + NP, + pres + have + en + Vpig +N}’ + Tm
5) Neg+ NP +past+have+en+Vm,d+ + Tm

10, Mother does not feel well today.
1) NP + pres + Neg + do + Vink + Adj + Tm
2) Neg + NP + pres + do + Vin + Man + Tm
3) Neg + NP + pres + Vink + Adj + Tm
4) NP + pres + do + Neg + Vtr + NP2 + Tm
5) Q+Neg+ NP +pres+do+ Vink+ Man+ Tm

11, The do-support transformation says that one must
1) add do when Tns is followed by M.
2)  add do when Tns is followed by have, be, or Vrbh.
3) add do when Tns is not followed by by M, have “be, or Vrb.
4) add do when Tns is followed by Neg-

12, The negative Rule shows that not can be added immediately
1) before M, have or be,
2) after M have, or be,
3) after the Vrb
4) before the Tn Tns.

In items 13-15 four different symbol strings are listed below each
sentence. Choose the symbol string that results when the sentence is put
through the negative transformation,

EXAMPLE:

Jill must donate blood, 2
1) Neg + NP + pres + M + Vir + NP
2) NP + past + do + Neg + Vir + NP2
3) Neg + NP + pres + do + Vtr + NP22
4) NP + pres + M + Neg + Vir + NP

The correct answer is #4,
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13, Can you help me tonighi?
1) Q+Neg+NPLl+pres+ M+ Vir + NP2 + Tm
2) Pres+ M+ Neg+ NP11 + Vir + NP2 + Tm
3) Neg+pres + M+ NP + Vtr + NP2 + Tm
4) Q+pres + M+ Neg + NPl + Vir + NP2 + Tm

14, Sue drives a car well,
1) Q+NP + pres + do + Neg + Vir + NP2 + Man
2) Neg + NP + pres + do + Vtr + NP2 + Man
3) NP + pres + Neg + Vtr + NP2 + Man
4) NP + pres + Vir + Neg + NP2 + Man

15. Does he lack ambition? 9
1) Q + NP + preg + do + Neg + Vitr + NP
2)  pres + doiNP%+ Vpjq - + NP2 9
3) Neg + Q + NP + pres + Vtr + NP
4) pres + Neg + NP' + Vppi4 + NP

In items 16-18 four different symbol strings are listed below each
sentence. Choose the symbcl string that resuits when the sentence is put
through the question transformation.

16. He can not nail up t{xe windows in the garage,
)  Neg+Q+NP' + pres + M+ Viprep + Prep + NP2 + Loc
2) Q-+ NP+ pres+ M+ Neg + Vtgyy + Prt + NPZ + Loc
3) pres+M+N¢ig+NP +VtrtPPrt+N 2+ Loc
4) Neg+Q +NP'+ M + pres + Vtgj, + NP4 + Dir

17, Sue is driving the car, around the hlock.
1) pres + Be + NPl + Vtr + NP% + Lgc
2) pres+be+NP1+ing+Vtr+NP + Loc
3) NP + pres + Be + ing + Vir + NP2 + Loc
4) Q+ NP+ pres + be +ing + Vtr + NP2 + Loc

18, They shot a rocket to the moon.
1)  Q + past + NP + Vtgijr + NP2+ Dir
2) NP+ past + vir + NP2 + Loc
3)  past + NP + Vtgipr + NP + Dir
4) Q + past + do + Neg + NP + Vir + NP2 + Loc

In itexas 19-20 four different syrabol strings are listed below each
| sentence, Choose the symbol string that results when the sentence is put
through the negative, yes/no question and do-support transformations.

P —

1) NPT+ past + Vtr + NP2 + Tm

2) Q+ past + Neg + NP + Vtr + NP2 + Tm

3) Q+Neg+NP + past+ do + NPl+ Vtr + NP2 + Tm
4) past + do + Neg+ NP* + Vir + NP2 + Tm

19, We readi[ lius Caesar last year,

20, The man weighed himself on the scales,
1) NPl +past+ Vpiq +/NP2 + Loc
2) past+do+ Neg+ NP + Vp:q4+ NP2+ Loc
3) Q+ past + Neg + NPl + Vir + NP2 + Loc
4 Q+Neg+ NP +past+do+ NPl+ Vv 4+ NP2+ Loc
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21, To guarantee that a sentence will go through the negative transformation
one must

1) add Neg immediately after Tns.

2)  add Neg after M, have, or be,

3) add Neg at the beginning of the symbol string,
4)  add Neg at the end cf the symbol string.

22. Not must be changed to n't when not_
1) occurs after NP,
2) occurs before NP,
3) appears in any sentence,

4) appears in an ungrammatical sentence.

In items 23-27 each grammatical sentence is followed by four
diagrams, Choose the one which shows the structure of the given sentence,
EXAMPLE:

The flowers are not blue,

1) S 2) S

/ | > /I\I’P/// \VP
Neg. NP VP Neg

/S~ /T
Aux Verb Aux Verb
/ / / /
Auxi Be + Pr Auxy Be + Pr
/ [ 4 :
Tns Adj Tns Adj
/
past pres
3) S 4) S
NP Neg VP NP VP
/N Ay T
Aux Vefb Neg Aux Verb
/ /
Aux;y V;-b 1>ux1 Be + l;'r
Tn! Vb Tns Adj
/ / /
pres Be + Pr pres
[
Adj

The correct answer is #2,

23. Jim hasn't been here for two weeks,




5~
2)
/ \ / \ 1
Neg NP VP Neg NP
Aux erb Aux Verb
e / |
Aux, Aux Be + Pr + Tm Aux; Auxy Be + Pr
< t / [
Tns have + en Loc Tns have + en Loc
e /
pres pres
3) S 4) S
25 ="~
NP VP Q NP Neg \'4
7 \\\ —~— '\ 4
Aux Neg Verb Tm Aux Verb 1+ Tm
A - A\ B P A/ A\ P
ux) uxo e+ Pr uy Auxz Be+ Pr
/ / v J
Tns have + en Loc Tns have + en adj
/
pres pres
24, I can’t come now.
2) S
/
Neg NP Neg NP )P
Aux Verb Tm Aux Verb
yd { ~ i
Am:1 Vrb Aux1 Vrb
-\ ' N\ '
Tns M Vb Tns M Vb
P : e t
pres \' pres \'4
i TS
vin in Tm
3) S 4) S
Neg NP VP NP VP
P — Q\
Aux Verb Tm Aux Neg Verb Tm
N\ / I
Aux Aux Aux Vrb
Tns M Tns M \'
-~ / )
pres V. pres \'4

in

in
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25, Hasn't she taken the horse to the barn ?

1) S 2) S
Neg Q NP VP’ Neg NP Q VP
)ux Verb Aux Ver{> Loc
\ |
Aux,  Auxp Vfb Aux; Auxg V:‘b
Tns have +en Vb Tns have + en Vb
/ / \
past Vv pres A"
/ \ ~——
vir NP2 Vir NP2
[T—.
V'tdir Dir
3) 4) S
. ///S\ /,:;-:/‘/‘; ~—
Q Neg NP VP Q Neg NP VP
N T
Aux1 Verb Aux Verb
7~ N | PN |
Tns Auxz Vrb Auxl Aux2 Vrb
e / ' 7/ l
pres have+en Vb Tns have + en Vb
‘ J !
A"/ pres \'
S~
virY NP2 Vir ~ NP2
N\
Vt o4 Prt Vtgiy  Dir
26, Isn'’t Joe putting up a fight? )
Q~ Neg NP Q Neg N VP
Aux V?rb Aux V'erb
/7 \
Auxi Auxz Vrb Aux{ Aux2 Vrb
s / c / / !
Tns be+ing Vb Tns be +ing Vb
e ! / !
pres \'7 pres \'4
™~
Vtr Vtr — NP2
vVt NP prep prep




3) S 4)
/,//f" ) — /,//f"'/“"" ~—
Q Neg NP T Q NP )"P
N~
Aux Verb Aux Verb
/ . / S~ /
Aux1 Vrb Aux1 Aux2 Vrb
N\ ! / / (
Tns be + ing \‘fb Tns be + ing \’fb
pres A"/ pre< A4
\ ~N
Vi NP2 vir ” “Xp?
/T
thrt Prt threp prep
27, The teacher hasn’t given the papex)-s to the students.
2
Neg Neg N
Aux Verb Aux Verb Loc
/ |  ~~ \
Aux1 Aux2 Vrb Aux Aux2 Vrb
/ N\ / 1y ~N
Tns have+en Vb Tns have +en Vb
/ |
pres A% p{st \'4
/ 9 S 2
Vir NP Vtr NP
S
th‘dir Dir
Aux Verb Verb Lce
/ "\ \ / ~ !
Aux, Aux, Vrb Aux ; Auxg Vrb
/ \2 N / ~N
Tns have + en Vb Tns have + en Vlb
pres \% pgt \'4
{
. 2
Vir NP Vtr
. N /\ .
Vtio IO Vtio NP




.

28, Why is Neg in Rule (1) ?

1) The choice of becoming negative or not exists for all sentences,
The sentence itself-~not just some part of it--will be negative.
Therefore, the choice must be made at the beginning,

2)  Neg is a part of the VP and therefore must appear in the first
rule containing a VP,

3) Neg is an optional element, and it is placed in Rule (1) as a matter
of convenience,

4) Q appears in Rule (1) so Neg must appear in Rule (1) because they
can not be separated from each other,

29, Which of the following sentences has NP + past + Vink + Adj+ Loc as
the basic underlying symbol string ?
1) The man could not hear the orchestra clearly.
2)  The boy seemed lazy at the summer camp,
3)  Sally did not taste the salmon at the luau.
4) Janie did not become queen at the dance.

30, Which of the following sentences has NP + pres + be + ing + Vip +
Dir as the basic underlying symbol string?
1) He had not been allowing enough time,
2)  The gentleman is not remaining here,
3) I am going to Europe
4) The actress was being temperamental,

3l. Which of the following sentences has Neg + NP! + past + Vi + 1O+
NP” + Tm as the basic underlying symbol string?
1) Shz did not explain the problem to Elaine yesterday.
2) He must not stay in the house today.
3)  She cut the flowers from her garden this morning.
4) Jim did not give Joe the information yesterday,

32, Select the answer which gives the correct order of transformations
which the following sentence has undergone,
Don't palm trees grow in Alaska?
1) Do-support, Neg, Yes=No transformations,
2) Neg, Yes=No, Do=-support transformations
3) Yes~No, Neg, Do-~support transformations
4) Neg and do-support transformations

33. Which of the following sentences contains a2 Q, a Neg and a Vt dir?
1) Hasn't he parked the car yet? -
2) Can't the boy throw the ball to the dog?
3) Couldn't he climb up the ladder next to the house ?
4) Did he put the dry grass on the pile ?

r 34, Which of the following sentences cortains a Neg, a Vmid and a Loc?
1) The man didn’t weigh the potatoes at the store;
2) Did he prune the rose bushes in the back yard?
3) He didnt have hay fever in Arizona,

4) She didn't stay home during the winter months.




35,

36,

31.

'9~

Which of the following sentences contains a Neg, a M, and a Vtypt ?
1)  He did not pick his clothes up, =5 ~—er
2) The child cannot walk around the block,

3) The man moved up the theater aisle,

4) The girl should not put up her hair,

Which of the following sentences contains a ﬁ, a Neg, a Vir, and a Man?
1) Isn’t the player bounciug the ball rapidly?

2) Didn't the ctudent driver back up carefully?

3) Isn't that John's typewriter on the desk?

4) The young boy did not mow the lawn carefully,

Select the answer which gives the correct order of transformations
Which the following sentence has undergone ?

Can't Sue explain her feelings ?

1) Neg, Yes-No, and do~support transformations

2) Yes~No, do~-support, and Neg transiormations

3) Do=-support, Neg, and Yes~No tranformations

4) Neg and Yes=No transformations

- In iterns 38 and 39 identify the construction underlined in the sentence,

38,

39.

The old woman will not drag out her souvenirs,
1) Neg + threp + Prep

2)  Neg+ Vtprs + Prt + NP2
3) M + Neg + Vtr ,
4) Neg + Vtr + NP

The boy did not present the gift to his mother on her birthday.
1) past + do + Neg + Vtijo + IO+ NP2

2)  past + do + Neg + Vtg;p + Dir

3)  past + do + Neg + Vi, + NP ot 10

4) past + do + Neg + Vtgipr + NP° + Dir
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Joe gave the girl a necklace,
g%; Vidir
Vipre
(3) Vrﬁidp
(4) Viio

The correct answer is #4,

1, The black sedan carr :d the gangsters to itheir hideout.
(1 Vin
(2) Vijo
(3) Viprs
(4) Be
(8) Vigir

2. The old man shuffled along the street,
@) V.
2) Vink
(23 thrt
(A} thlr 1

3. The dog looked for the cat,
(1) Viie
(2) Viig

(1) Vi
1) viprep
(5) Vegir

4, ‘(I‘l;e cook turned »n the oven,
1) Vidir
(2) Viort
8 v
4
tprep
(5) v,ﬁidp

5. Mother bought my sister a new coat,
(1) Vink

(3) Xtio

\4) Vidir

The child told the truth to his mcther,

(1) V
(2) Vibs'
(3) threp
(4) Vigir
(5) Vmid

. In items 1-9 following each sentence some verb types are listed,
Choose the one which corresponds to the verbp found in the sentence. j
. Example: |
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1. The oy stayed home for a week.
(2) VB
(3) Vink

(4) V
(5) ViEreP

9. The vice-president asked a question of the committee.

(1) Viort

P

(2) V.

(3) V..

(4) thi‘re;.p

(5) Viio

In exercises 10-13 select the VP which has the underlying structure of
the syrabols beneath the blank,

10, The waterfall

past + thrt + Prt + NP4

(1) drowned out our voices.

(2) covered the cave completely.

(3) sprayed water on the boys.

(4) dropped 1500 feet from one level,

(5) created a roar throughout the valley.

11, The teacher

past ¥ Vi F prep ¥ NP° + NP

(1) walked across the street,

(2) closed the window yesterday,
(3) threw out the test papers.

(4) gave the class a test,

(5) scolded Joe and Jim.

; 12, We

past ¥ Vigi, T Dir ¥ NP2

(1) sent the boys a present today.
(2) rowed the boat towards shore,
(3) walked up the steep hill,

(4) weighed the sack of potattes.
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13. The lawyer

past thrt +Pprt + NP4

(1) went into the courtroom.
(2) gave his client a receipt.
(3) looked the case over.

(4) ate dinner at the club.

(5) looked away from the girl.

' In exercises 14-17 decide which diagram produces an accurate
linguistic string for the sentences,

14, The dog tore up the slipper.
(1) S




(4) S
" - \\\s.
Aux~ V;arb
|
Auxy V\
1Jns Vtr// NP2
/

past thrt \Prt

(5) S

Auxl /V
! 1
'I!‘ns Vtr/ \P?‘ i
past viZ 1o
15. Jill sold Mary the coat,
(1) S
N \:/y.g\
Agx/ T Ve{rb
j
Aux Vv
1
/ N
Tps vtr/ NP°
I :
past Vidir \Dlr
(2)

Aztgx Ve'rb
Tns ~V
: T~ )
past /Vtr NP
]
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(3) LS.
',’/ i T Yo maa
NP VP
.—-’/",\
Aux -
A.ux . Vt //\N pz
! / g |
';‘ns threp\rep
‘ past
(4) S

(5)

(1)

Q
ERIC
o




2) -

>
&
i
\
\
\
<
7
o

\'
A?Xl N
Tns v NP
! '
i i
past I
|
L /J’ an S— 7o

(4) S

el e

(5) S
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17, The boy put the paper on the porch,

(1) S
‘,,.'4""".’ - \\
o
Aux™ \\V’érb
‘ !
A'uxl v

(2) S

P U T T




18.

19,

20,

21,

22,

(5) S
—/J- N\\‘\
NP VP

Aux ™~ Wrrb

!

Tns Vi Np?
| N\

past Vtio 10

Which of the following characteristics applies only to the transitive
verb?

(1) Cannot be made passive

(2) Canbe mage passive

(3) Has an NP

(4) Can underso a Ty 5

(5) Can be followed by Adj , Loc, and NP

The V. is best defined as a verb which
(1) ca?x?xfgtp be made passive

(2) can undergo an optional transformation.
(3) has an obligatory transformation.

(4) cannot undergo a_transformation.

(5) must have an NP°,

VWhat characteristic is shared by Vi;,, V. s Viprt, and V... verbs?
(1) They all undergo obligatory tra%gforrtr?eﬁeigns. tprt tdir

(2) They all may undergo optional transformations.

(3) Besides the NP~ they require an additional element to complete them
(4) They can be made passive in two ways.

VWhat happens in a sentence with a thrt verb if the direct obhject is a

pronoun?

(1) The sentence may undergo an ~tional transformation,

(2) The particle may be deleted frc . the sentence.

(3) A preposition must be added to make the sentcuce grammatical.

(4) The sentence undergoes an obligatory transformaticr, which moves
the particle,

r

What is the difference between a V; + Prep verb and a thrt + Prt

verb? prep 3
(1) Sentences with a thre must have an NP",
(2) Sentences with a thrta Prt can be reordered.

(3) Sentences witha V
(4) Sentences witha V
formation.

+ Prep can be reordered,

r -
tprep 4 Prep cannot undergo the passive trans-

tprep

l
|



-9-

23. Which of the foliswing characteristics applies only to a sentence
with & Vy;o + 107 | =
{1) i can be made passive in two ways.
(2) It must have a pronoun as its indirest cbject. 9
{3) The indirect objzct must be moved to a piace after NP°,
(4) The preposition before NP3 canaot be deleted.

In items 24 and 25 decide which sentence corresponds to the given

diagram.
/ e -
NP V_}‘?’__

Aux Veérb
l

Auxy A\'A
i ///\\

Ths e yp2

i
past th;;.\hir

{1) The secretary picked up the phone.

(2) The couple walked out holding hands,

(3) Mr, Smith built Jim 2 miniature car.

(4) The man dragged the carcass into the camp.

(5} The bookkeeper prepared the report for her boss.

25,

T T — i
NP VP -
/\ ——
Aux Vqrb
| {
Aux1 Vv
H
]

' tr
past Vt@ “Prep

(1) The teacher sbjected to the answer. ]
(2) The man cut down the tree,

(3) The cashier handed the money to the girl.

(4) The police department called out the volunteers.

(5) The little boy raced the car down the hill.

L 26, Which of the following sentences can be made passive ?
(1) Joe is a good math student.

] (2) Mary walked home in the rain,

E (3) The boy remained in the classroom.

(4) The man drove the car into the garage.

(5) Her new shoes cost ten doliars.

JAruiToxt provided by ERIC
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27. Which of the following sentences contains a Vinig? i
(1) The prisoners followed the policeman, |
(2) The water damaged the carpet. |
(3) The boy resembled his mother. :
(4) The father looked at his daughrer., 3
(5) The plants grew six inches tall, ;

28. Which of the following sentenczs contains a V
(1) The boy squealed on his brother.
(2) The woman hung up the laundry,
(3) Susan ran across the field hurriedly.
(4) The hen provided warrth for her chicks.
(5) The sun shone brightly in the east.

tprep ?

29, Which of the following sentences contains a Vt dir’
(1) The ship remained in the harbor.
(2) The couple lived in our block,
(3) Ben looked at the teacher.,
(4) The girl tasted the apples on the porch,
(5) The man pounded the stake into the ground.

30. V/hich of the following would transform The hoy bought for his girl
friend a ring into a grammatical sentence?
(1) Delete 'Efor" and relocate the IO
(2) Delete the NP

(3) Relocate the IO
(4) Delete the Prep

31. In order to transform this sentence, Tom took to the dance his gister.,
into a grammatical sentence you would have to
(1) perform an optioxéal transformation
(2) delete Prep + NP°.
(3) reorder V;4i, and Dir,
(4) reorder NP2 and Dir

In exercises 32-37 choose the symbol string which underlies the
sentence,.

32, Mrs, Smith sends out her laundry.
(1) NPL+ pres+ V, .+ Prt+ NP2 _
(2) NPl + pres + thre + Prep+ NP~
(3) NPl+ pres+ v+ Dir
(4) NP% + pres + Vi 4.+ Dir + NP2
(5) NP" + pres+ V| ;4+ NP2

33. Mrs, JYnes sent her daughter to the §tore. 3
(1) NP:+ pasi + Viprep * Prep} NP“+ NP
(2) NP]+ past + Vi, ¥ 10+ NP? |
(3) NP + past + Vygi, + Dip + NP
(4) NP2+ Vi + Pri+ NP
(5) NP'+ pres+ Viprt+ Prt + NP2

Aruitoxt provided by Eic:
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34, The teacher put the rular down.
(1) NP{+ gast+ V, . + Dir+ NP2
(2) NP + past+ V,C% + Prt+ NP2
(3) NP1+ past+ Vipro, + Prep+ NP?
(4) NPL+ past+ v,0 "R NP2 + Pt

1 I
(5) NP*+ past+ V, + Loc

35. The secretary locked up the money in the vault,
(1) NP1+ past+ vy, + NP2+ Loc
(2) NP!+ past+ Vtrlﬁ' NP2 + Loc
(3) NP+ past+ Vi + Prt+ Loc
(4) NPl+ past+V,  + Prep+ NP2+ Loc
(5) NP1+ past+ Vb "% Prt + NP2 + Loc

36, Jo gave me her address.
(1) NP! + past + Vi;,+ NP2 + IO
(2) NPl+ past+ v, ;q+ NP2
(3) NP1+ past+ V., £ NP2 + NP3 )
(4) NPI + past+ Vi, + prep + NP3 + NP
(5) NP*+ past + Vyj, + prep + NP2 + NP3

37. The gir} put her books under_the desk.
(1) NP!+ past + Vigip + NP2 + Dir
(2) NP+ past+ v, '+ NP2+ Loc
(3) NP+ past+ Vi oo+ NP2+ Prep + NP3
(4) NP!+ past+ v, °% Dir + NP2
(5) NP1+ past+ Vi% Loc

In items 38-42, the symbol stripgs are followed by five sentences,
Choose the one which matches the underlying string.

Example:

NP + past + Vijo + prep + NP3 + NP2

(1) The boy gave the apple to the teacher.

(2) John wrote Jill a letter yesterday.

(3) The woman put up a new calendar.

(4) The pointer chased the bird to the hunter,
(5) He is typing his exam for the course.

The corract answer is #1.

38, NP+ past+ V, .+ Dir + NP?
(1) I hate to leave my parents this fall.
{2) Mark's brother will graduate from college in June,
(3) They elected John president this year.
(4) Ray planned to go to New York tomorrow,
(5) The father guided his son to the best fishing spot.

39, NP+ past+ V4. + Dir + NP2
(1) Mrs. Jones pulled out the weeds in the garden.
(2) Edith refused the nomination for secretary yesterday.
(3) The cheering crowd rushed onto the field,
(4) The chauffeur maneuvered the car into the parking space,
(5) The bird flew over the grass looking for a worm.




40,

41,

42,
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NP+ pagt + V, ___+ Prep + NP2

(1) Ileft my ;ibtebook at home.

(2) The boy fell off his bicycle.

(3) She offered a glass of milk to the child.
(4) Hal drank three cokes in thirty minutes.
(5) The teachep talked to the girls after class.

NP+ past+ V, .. + Prt + NP2

(1) He brough’(tp 1s guitar home.

(2) He is interested in electronics.

(2) She picked cherries in the orchard.
(4) The boy took the garbage out.

(5) The man climbed up the ladder,

NP + past + Viq* Dir+ Tm

(1) Charlie depended upon you at the race.

(2) The library subscribed to Look last year,

(3) He argued with the referee after the game.

(4) The elephant stayed in the tent during the parade.
(5) We walked to the party last night.
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The most coramon detertiiners, a, an, the, and some, form a special
class called

(1) generatives

\2) articles

(2) indefinites

(4) particles

How does the NP "the tree" differ in meaning from "a tree'?
(1) The noun phrase 'the tree' singles out a particular tree.
(2) "Tie" has a much closer relationship to "tree'' than ''a' has,
(3) A" has a much closer relationship to ''tree' than "the' has because
"trec' is an indefinite noun,
(4) Other words can be added to the NP 'the tree" but not to the NP
a tree,’

What determ.uer is grammatical in the slot in this sentence, ''Mr.
Smith is very one I meant,''?

(1) an indefinite article

(2) a demonstrutive

(3) a consonant

(4) a definite article

Which of the follow 'ng phonetic symbols represent the word "some"
found in the following sentence?
Sentence: 'Some boys walked by. "
(1) /sam/
(2) /sem/
(3) /s5m/
(4) /£5m/

A, an,and some are distributed in such a way in English sentences
that where one of them occurs

(1) the other two may app2ar also

(2) only cne of the other tvvo may appear.

(3) the other two cannot appear.

(4) the other two cannot be separated,

A and an are not grammatical in front of either
(1) mass nouns or plural count nouns.

(2) animate or inanimate ncune

(3) human or nonhuman nouns.

{4) human noung or singular count nouns.

Articles in English are explained by
(1) rewrite rules

(2) a double-base transformation.
(3) a single-base transformation.
(4) prone of these

In items 8-15 identify the class ¢f the noun underlined in each sentence,
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Exaraple:

10,

11,

12,

13,

14,

The boat crossed the lake rapidly.
(1) N.pt

(2} Nypon

(3) Nijp

(4) Nyp
The correct answer is #3,

A fourth way to get across town will be explained by Bill,
(1) Npon

(2) Nin

(3) Ny

(4) Nepg

Ylas the beast in the movie realistic?
1) Nhum

(2) Nap

(3) Nin

(4) Npon

The queen ru.ed the court with dignity.
(1) N um

(2) Neont
(3) Ny
{4) Npon

fh;dy was worried about the weather at the coast.
1) N
2) Npo©

(3) Ncnt

(4} N

V/e shall visit several French families while we are in Quebec,
(1) N,

(2) Noon

(3) Nip

(4) N,,
The mother's trust in her son was unfaltering.
(1) Npon

(2) Ny

(3) N;,

(4) Nent

The poem had four stauzas.
(1) Npon

(2) N,

(3) Nin

(4) Npum
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15. The horror of the Frankenstein movie made the children cry.

(1) N
(2) N
(3) Ny
(4)

n

16, A occurs before nouns which begin with a

(i) vowel sound

(2) consonant sound
(3) 1lexical sound
(4) phonetic sound

17. An occurs before nouns which begin with a

{1) consonant sound
(2) lexical sound
(3) phonetic sound
(4) vowel sound

18. The word "some" never appears in the same place that

(1) aandan do

(2) the and an do
(3) the and a a do

(4) 2, an and the do

in items 19-25 choose the diagram which corresponds to the given

sentence.

Example: The answer should be positive.

(1) S -
T~
NP VP
o //, ~.
T N \N° ’1
@ Ncnt ‘

1)

Nin sing VP
(3) /
T¥p
T "N\N°

i
. 3
AI!'t Nept  sing ’

v

Artdef Ni 2

The correct answer is #3,

(2)

Art

Arl indef N‘

(4)

Ncnt




-4-

19, The moonlight streamed across the lake.

(1) S

i /l\j‘:\N i
e 4o
Artindef Nin smg VP
(3) S

P /\
NP VP
‘ |

Art Ncnt } %
‘ v

Arl indef N sing P

(2) S
—
T
T N R %
i ‘ i
Art Né:m i
Artdef N, sing VP
(4) S

|
AJ‘t def N‘ sing VP

20, An accident occurred at the corner this morning.

(1) S

|
l
Art cnt |
Arkindef N, sing VP
(3) S
/\
NP vp
T 1;1 N°
/
Art Nent

Artdef b}in sing vP

NP P

//‘i\
T N N°
/ i
/ ¢
Art i
r ?
Artindef N, sing VP
"/ R
NP VP
A~
T N N°
I | ‘
AL
! !
Artdef N, sing VP
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21, The judge reached a decision,

(1) - (2) ’/S...\
P )
np T Tp NP VP
/ —
Y Y
!
A‘rt Nent sihg Art Nent sing
|
| N | Arides N VP
Artinger Nhum VP
(3) S (4) S
NP VP NP VP
T N N° T N o
Nj ‘; | | l
Art ent ing Art N, sing
|

22, Some dresses require extra care,

(1) S (2)
NP ~vp NP P

/ 4 ~ /]\
T ]‘N‘ \ Nv T N ?o
i | 1 I\L
Art Neni plur Axl't cent piur
!
Art d:e-.f'- Nin VP Art;ndef Nin VP
(3) S (4) S

plur %
v
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23, Money is the root of all evil,

(1) S
NP/\ \“VP
i
’ N, sing |
@ VP
(3) S
NP//\\VP
A e
.
Asrt plur |
ATtinges ve

24, We are going to the cnast tomorrow.

(2) S
NP/\VP
/ \\-\ o
I
Art 1\‘7 \
| =
@ N, sing VP
(4) -
Ng\ \VP
;I'//\N TNO
Art N i si\ng

(1) S_ (2) S
N ? /\
¢
Axl't Nc\:nt slmg ; Art N, 'lqt plt’xr
' i i i by
H i
Artdef Nan § Artir/ldef Naln
| i |
Nﬁum VP Nh'um
(3) S (4) S
NP VP NP P
T ; R—
T N T NO
Al \ | |
rt N(I:nt plur ; | Ncnt I
Nan ! 9 Nan plur
Q VP




25, A vacation was the prize,

(1) (2) S
\\\\ /\
NP/\ '

P NTP\.\ VP
~ — -
"r /I\O 'lr N WO
, .
Aft N:cnt Aft lJcnt
Artges N;, sing vP Artin tef km sing VP
(3) S (4) S
/‘\\\~ - /\
N VP /N\P\\ P
! '
"r N N ‘a T N  N°
\ ! |
Art \\ \\ Art \
Art'indef N, sing VP Art !ief N, sing VP

26. The name given to the single article which appears as a, an or some is
(1) Artindef
(2) Artges
(3) Art
(4) determiner

27. The grammatical pronunciation of "some" in the sentence, "Some
problems are harder than others. ", would be spelled
(1) /s¥m/
(2) /[sam/
(3) /sdm/
(4) [sam/

28. Many people pronounce the word "the" like the word "thee" when the
word following it begins with
(1) a coansonant sound
(2) an unaccented sound
(3) a vowel sound
(4) an accented sound

29, When Arty.r is found in a sentence string, what word should replace it

in the final sentence?
(1) a

(2) an

{\3) some

F (4) the
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In items 30-35 choose the answer which classifies the determiners
in the sertence in the order in which they occur in the sentence.

Example:

The teacher gave me an eraser and some chalk,

(1) Art ¢ Art Art

inde indef, indef.

(2) Artdef, Art def, Art def

(3) Artger, Art qoq AT gop
(4) Arigef, @, Artipger, ATtindef
The correct answer is #4.

30. Charlie Brown arranged a birthday party at which the children
played darts and marbles,

inde
(3) @, Artger @, Artger, 9

(4) Artdef, Artdef, Art d

inde

ef, 9

31, Not even the threat of failure bothiered Robert.

(3) Artjnger, @ O, Artger
(4) Artdef, ?, Artindef

32. In a report in some magazine doctors recently discussed new ;
techniques in the discovery of cancer, ~
(1) Artindef, @, Artger, @, Artges

indet, P ATtger
(3) Artindef‘ Artdef, @: q’: (Do Q

(4) Artindef, AI‘tindef, ?, @, Artdef, @

(2) Artdef, Art

PO RTe

33, The officers of some cocmpany congratulated the winner and presented
a five-hundred-dollar check to hira,
(0 Artger @, Artjpaer AT ger

(2) Artger Attinger ATtyee Alinger O

(3) Artindef, Artindef,

Arty e, BTGer

z A
(4) Artdéf, Artdef, Awtindef, rtdef, @
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34, By the time an oificer arrived to help the girls, the car had been
. towed away to a garage. 1

(1) Artjpgef, AI'tdef, Artingef, Artindef, Artyer

(2) Artges Artiger, #Ttindef, Art; sef, ATindef

(3) Artger Artyser Artaer, ATer, Mot ¢ 1

(4) Artgp Arty, Arty . Aty ATt et i

35, The very idea that Joe could perform a trick is unbelievable,
(1) Arty, @ Artiger

(2) Artges, @, Artinger, @
(3) Artdef, Ar"indef, @
(4) Artdef, Q, Artclef, ¢

In items 36-40 choose the symbol string of the kernel which underlies
the given sentence.

Example:

The company sent the representatives to Chicago.
(1) Artindef + Nin+ sing + past + Vtr + Artindef + Nhum + plur + Loc

(2) Artgee+ N; + sing+ past + Vi ¥ Dir + Artgeet Npum + plur
(3) Artgeet+ N+ sing ¥+ past+ Vigir +_Artdef + N o+ plur + Dir

P .

(4) Artigept Ny, + sing* past ¥ Vi, + Arty o + N+ plur+ Loc

The correct answer is #2.

36, The corn grew rapidly last summer, *
(1) Art;,qe¢ ¥ N+ Plur + past + V;, + Man+ Tm

(2) Artgeet N, % plur+ past +V, t Mant Tm
(3) Artgee+ N_ + sing + past + V) ot Adj+1ly+ Tm
(4) Artgeet N+ sing + past V.t Man+ Tm

37. Jane will take the teacher some appleg tomorrow,
(1) @+ Npym + sing + pres+ Vijo+ 107 Art gef* Ny ¥ plur + Tm

(2) @+ Nyum + sing + past+ M+ Vi + Art; + Nap* sing + Artges
© indef N+ plor + ngef

(3) @ + Nhum + sing + pres + M+ Vtr " Al'tdef’" Nhyrnb;' sing + Art, def +
int plur + Tm
(4) @+ N+ sing+ pres+ M+ Vyjo + prep + Artges t Npym ¥ sing ™
Artjpgef ¥ Nj + plur + Tm

ERIC

FullToxt Provided by ERIC.
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38, Some music sounds romantic.

(1) Artjnges* N, ¥ sing+ pres+ V. + @+ N_ + sing
(2) Arty e+ Np, + sing + pres + Vy, + Man

(3) Art;

indef ¥ Np, ¥ sing * pres*+ V, + Adj

(4) Artgeet N+ sing* pres +V, nk + Adj

Kim has been sulking all day,
(1) @+ N, -+ sing+ pres* have+ en+ be + ing+ V;,, + Tm

(2) Art,

+ sing + + + en+ bet ing + +
i ndef+ Nhum sing + pres + have + en+ be + ing + Artye¢ Nin

+ sing
(3) @+ Ny, .+ singt havet ent bet ing+ V; + Art, .+ N;, + sing
(4) Q+N um+ sing + past + havet en+ be *+ ing+ Adj+ Tm

An arrow hit the cow, 4 NP2
(1) Artgep* Npop * sing ¥ Vtdir' ¥ Dir * NP

(2) T+ Nj,* sing+ pres+ V. + Arty .+ N, + sing
(3) Det+ N, + sing+ past + Vi, + Det + Ny, + sing

indef

(4) Art, + N, +sing+ past* V,, tArtg .t Nnon* sing

1
1




